NAME: Date: Grade:

(From Grade Calculation on last page)

Course:

. Written Exercise 6: &5

Translate the foIIowing Greek text into correct English (51 answers)

rOLg vgowwug 0 Homkog EMEV EK TAV TPOONTOV Ioug koyong nspt 00 Xplcrov onm] n ocyysha VEQ IV TPOG
omroug, KOl 0VTMC OVLTOL Ol avep(mtm avrsBakkov oum]v avplov O Sovkog omog 1701) KOPLOL TTOALY npos@nKs
aOTOIG TO suayyahov Koil snnKovcav 70D AMOGTOAOD EMIGTEVGAV & AVTOL EV TQ) Kl)pl(D 0 GmOGTOMOG YOP YNVOIOG
AANOeLE 6o Tod BE0D, 0VTOG T AANOIVOG dyyehog NV KAt 1 Sidoryh adTOD OVK KEVH V.

< Parse the following words according to the appropriate model (64 answers):

101¢ veaviag (7 answers): 1 - Dat ( )-M-P -veoviag, 6 -

0 ITadog (7 answers): Proper Name - Nom (Subj) - M - S - TTodog, 0 -

ey (8 answers): 2 Aor ( )-Act-Ind-3-S-Asyo -

£k 1@V Tpoentdv (8 answers): 1 - Abla ( )- M- P - zpoonng, 0 -

Tov¢ Aoyoug (7 answers): 2 - Acc (Dir Obj) - M - P - Moyog, 6 -

nept oV Xpiotod (7 answers): 2 - (Ref) - M - S - Xpiotog, 0 -
av (10 answers): Pron - Nom - F - S - obtog, abt, todTo -
ayyeia (7 answers): 1 - Nom ( )-F-S-ayyeho, 1 -

veo (answers): Adj ( )-Nom - F - S - veog, -a, -ov -

nv (7 answers): Imperf (Desc) - Ind - 3 - S - gyuwm-

npog awtovg (10 answers): Pers Pron - Acc (Ref) - M - P - awtog, -1, -0 -

kat; (1 answer): Coordinate conjunction connecting two independent clauses -
ovtwg (1 answer): Adverb of manner - thus, so

ovtot (10 answers): Dem Pron - Nom - M - P - ovtoc, abt, 10010 -

ot avOporot (7 answers): 2 - Nom ( )- M- P - avBpomog, 0 -
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avtefairov (8 answers): (Incep) - Act - Ind - 3 - P - avtipario -
avtv (10 answers): Pron - Acc (Dir Obj) - F - S - avtog, -1, -0 -
avpiov (1 answer): temporal adverb - on the next day

0 80DAog (7 answers): 2 - Nom ( )- M-S - odhrog, 0 - this

ovtog (10 answers): Pron - Nom - M - S - obtog, aidtn, tod10 -

70D kvplov (7 answers): 2 - Gen (Poss) - M - S - kupiog, 0 -

nolwv (1 answer): adverb of sequence - again

npoednke (8 answers): 1 Aor (Const) - Act- Ind - 3 - S - mpotiOnut - them

avtdic (10 answers): Pers Pron - Dat (Indir Obj) - M - P - awtog, -1, -0 -

10 gvayyehov (7 answers): 2 - Acc (Dir Obj) - N - S - goayyghiov, 10 -

ko (1 answer): coordinate conjunction connecting two independent clauses - and

gnnkovoay (8 answers): (Const) - Act - Ind - 3 - P - emaxovo -
10D amoctolov (7 answers): 2 - (Dir Obj) - M - S - amoctolog, 0 -
emotevoay (8 answers): 1 Aor (Const) - Act-Ind-3-P - - they believed

8" (1 answer): postpositive coordinate connecting two independent clauses - and
avtot; (10 answers): Pers Pron - Nom (Subj) - M - P - avtog, -, -0 -

&v 10 kuplw/ (7 answers): 2 - (Sphere) - M - S - kopiog, 0 -

0 anootorog (7 answers): 2 - Nom (Subj) - M - S - andctorog, 0 -

yap (2 answers): postpositive coordinate conjunction introducing causal independent clause -
ynvoiwg (1 answer): adverb of manner - sincerely, genuinely

nAndeve (8 answers): Imperf (Desc) - Act - Ind - 3 - S - dAnbevo -

ano tob Ogod (7 answers): 2 - Abl (Sep/Source) - M - S - 0gog, 0 -

ovtog (10 answers): Dem Pron - Nom (Subj) - M - S - obtog, av, todto -

¢ (1answer): postpositive coordinate conjunction connecting two independent clauses -

aindwoc (9 answers): Adj (Attrib) - Nom - M - S - aAnbwog, -1, -ov -
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ayyehog (7 answers): 2 - Nom ( )- M-S - dyyehog, 0 -

nv (7 answers): Imperf ( )-Ind-3-S -y -
ka1 (1 answer): coordinate conjunction connecting two independent clauses - and

n d18aym; (7 answers): - Nom ( )-F-S- , -

avtovs (answers): - Gen (Poss) - M - S - avtog, -1, -0 -

ovk (1 answer): negative adverb - not

kevn; (answers): Adj ( ) - Nom - F - S - xevog, -1, -0v -

nv (7 answers): Imperf ( )-Ind-3-S-gyi-

+»Conjugate the following verbs according to the appropriate model (24 answers):
1 Aorist - Active - Indicative Forms of eraxovw (6 answers):

Person:  Singular Plural
1

2

3

2 Aorist - Active - Indicative Forms of Aeyw (6 answers):
Person:  Singular Plural
1

2

3

Imperf - Indicative Forms of eyuw (6 answers):
Person:  Singular Plural
1

2

3
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1 Aorist - Active - Indicative Forms of mpotifnu (6 answers):
Person:  Singular Plural

3

3 Decline the following nouns and noun derivatives according to the appropriate model:

Demonstrative Pronoun ovog, avt, todto (18 answers):
Case: Masculine Feminine Neuter
Singular:

Nom

Gen/Abla

Dat/Ins/Loc

Acc

Plural:

Nom

Gen/Abla

Dat/Ins/Loc

Acc

Demonstrative Pronoun &xgivog, -n, -o (18 answers):
Case: Masculine Feminine Neuter
Singular:

Nom

Gen/Abla

Dat/Ins/Loc

Acc

Plural:

Nom

Gen/Abla

Dat/Ins/Loc

Acc
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2ABlock diagram the above text according to the guidelines (25 answers):

(1) roig 6 Hadlog eimev... T0VC TEPL
EK
2) avtn véa
avToVG,
Kalt

3) o1 avlpwrnol avtnv.

avplov
(4) o0 dovrog 700 .. IPOEONKE

Kol
(5) émnrovoav tod

(6) émiorevoav avrol 0 KVPI®,
yop

(7) o ..nAn0Osve
4o ,

(8) ovrog dyyeroc v
Kol
(9) n odayn 0VK

70 gVayyEliov.

********************GRADE CALCULATION********************

Number of Errors .

Missed accents and breathing marks
= 1/4 error per word

Times 0.50

Total Pts. Missed

Total Pts. 100.00

Minus Pts.
Missed

Grade .
(Please record grade at top of page 1)

Page 5 of 5


http://cranfordville.com/classes/gkgrma05.pdf

